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Group-A

1. Answer any three of the following questions : 12×3=36

(a) Consider the following reference string :

7, 0, 1, 2, 0, 3, 0, 4, 2, 3, 0, 3, 2, 1, 2, 0, , 7, 0, 1

Apply : (i) FIFO  (ii) Optimal Page Replacement, (iii) LRU algorithms and
compare. Write down and explain the Banker’s algorithm. 7+5



(b) What is the difference between main memory and secondary memory? Assume
you have the following jobs to execute with a single processor using priority
scheduling.

Process Burst Priority

P1 10 3

P2 1 1

P3 2 4

P4 1 5

P5 5 2

Draw Gantt chart. Calculate average waiting time and average turn-around time.
4+2+3+3

(c) Define essential properties of the following types of Operating Sytem : (i) Batch
operating system  (ii) Time sharing operating system (iii) Real time operating system.

Explain the difference among long term, short term and medium term schedules.

Write and explain the sequence of system cells for copying a file to another (new)
file. 3+3+6

(d) Explain the concept of ‘process’ and also describe the contents of a process
control block (PCB).

What are co-operating processes? Describe the mechanism of inter process
communication using shared memory in a producer-consumer problem.

Explain how process are created and terminated. 4+(1+4)+3

(e) What are semaphores? Explain how it can be used to implement mutual
exclusion.

What is critical section? What requirement should be satisfied for a solution
to the critical section problem?

Explain the readers/writers problem. (2+3)+(2+2)+3

(f) What is paging and swapping?

With a diagram discuss the steps involved in handling a page fault.



What is address binding? Explain the concept of dynamic relocation of addresses.

Define external fragmentation. What are the causes for external fragmentation?

3+3+(1+2)+(1+2)

Group - B

2. Answer any two of the following questions : 2×2=4

(a) Why is the operating system important?

(b) What are the benefits of a multiprocessor system?

(c) What are the different kinds of operations that are possible on semaphore?

(d) What is thread in OS?

× =

7, 0, 1, 2, 0, 3, 0, 4, 2, 3, 0, 3, 2, 1, 2, 0, , 7, 0, 1

(i) FIFO  (ii) (iii) LRU 

7+5

Process Burst Priority

P1 10 3

P2 1 1

P3 2 4

P4 1 5

P5 5 2



Gantt (waiting) (turn-around)

4+2+3+3

3+3+6

(PCB)

4+(1+4)+3

(2+3)+(2+2)+3

3+3+(1+2)+(1+2)



× =

OS-

(Practical)

Answer any one of the following questions : 20×1=20

1. Consider the following file named ‘students’, The column values corresponds to name,

mark 1, mark 2, mark 3, mark 4 and mark 5. Write an awk script to find average mark

and grade of each student :

Anu 30 20 25 36 45

Sudip 33 29 27 38 30

George 23 49 37 38 40

Jeen 34 39 47 45 40

2. Write a shell scripts to do the following :

If the option is 1) computer and print the multiplication table of the given number.

If the option is 2) find whether the given number is odd or even.

If the option is 3) Thank you. Good Bye!

3. Write a shell scripts to check whether a given number is palindrome or not.



× =

student.1st 1 2 3 4

5 awk

30 20 25 36 45

33 29 27 38 30

23 49 37 38 40

34 39 47 45 40

1) 

2) 

3)

___________




